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estion | 00 .
A - —_—
) n—1 1.3.5..(2n—1)
N The series ¥ (—1) =
n=1
Mark 1 out of 1
¥ Flag Select one:
question a. converges absolutely
b. diverges
c. converges conditionally
The correct answer is: converges absolutely
S JESTICN 2 . oo 1
The sum of the series > is
Comrec n{n+2)
n=1
Mark 1 out of |
¥ Flag Select one:
question a. 1

2

. The series diverges

C.

= 7Y

d. 1

.3
The correct answer is: 1



Question 3 =3
. dx
The integral
ncomect d ir o T2 43
Mark 0 out of 1
¥ Flag Select one:
question

o
diverges by limit comparison test with f —=
1

The cormrect answer is: diverges by limit comparison test with

oD
[ & dz
1
Question 4
— The sum of the series Z {n+1]
Mark 1 out of |
¥ Flag Select one:
question 1
a. 3
b. 1

c. The series diverges

d 2

The comrect answer is: 1



Question b )
i 1,2
The series n tan =]
Comrect El ( " )
Mark 1 out of 1
¥ Flag Select one:
question a. COnverges
b. diverges
The comrect answer is: diverges
Question 6 The sequence {a, = (ﬂ]“}
q LU T
Comect
Mark 1 out of 1 Select one:
¥ Flag a. converges to et
question
b. diverges
4

c. convergestoe”

d. convergesto —In4

The correct answer is: converges to e 4



Guestion 7

1

o0
The series
n=1

Comect na"
Mark 1 out of 1
¥ Flag Select one:
question o 1 Ev
converges by direct comparison test with Z 3=
n=1
— 1
diverges by direct comparison test with E o
n=1
— 1
converges by direct comparison test with E o
n=1
— 1
diverges by direct comparison test with Z o
n=1
The correct answer is: converges by direct comparison test
O
with 5 =
n=1
Question 8 8+(—1)"
e The sequence {a, = %}
Comect
Mark T outof | Select one:
\ "“_Q a. converges to %
question

b. converges to 0
7
C. converges o r

d. diverges

The comrect answer is: converges to 0



Guestion 9 - ot s
Comact The sum of the series 3 (—1) = s
n=1
Mark 1 out of 1
¥ Flag Select one:
question a —3
b. 1

c. The series diverges

d. —2

The comrect answer is: 1

Question 10 e
The series o
Comect Z 1‘1{“"'1}
n=1
Mark 1 out of 1
¥ Flag select one:
question a. converges absclutely

b. converges conditionally

c. diverges

The comrect answer is: converges conditionally



Guestion 11

Comect
Mark 1 out of 1

¥ Flag
question

Question 12

Comect

Mark 1 out of 1

¥ Flag
question

oo
The series » . a,. where a; = 4,a,41 = ynay,
n=1

Select one:

d. Converges

b. diverges v

The correct answer is: diverges

The interval of convergence I of the series § {—1}“’;(;—2]““
is "
Select one:
a. I=(-2,-6] v
b. I=[-2,6)
c. I=(-2,6)
d. I=[-2,6]

The correct answers ars: I = (—2, —6]
I =[-2,6)
J =[-2,6]
T =(-2,6)



Question 13

ncomact

Maork 0 out of 1

" Flag
question

Guestion 14
Comect

Mark 1 out of |

" Flag
question

2n+14 .

The sequence {a, = —

Select one:

a. nondecreasing and not bounded
b. nondecreasing and bounded
C. nonincreasing and not bounded

d. nonincreasing and bounded

The comrect answer is: nonincreasing and bounded

oo
The series Y e "
n=1

Select one:

1

d. converges and sum= 1

b. diverges

C. Converges and sum= p

d. converges and sum=

1

The comrect answer is: converges and sum= —



Questicn 15

Comect
Mark 1 out of 1

¥ Flag
question

Question 16
Comect

Mark 1 out of 1

¥ Flag
question

1

The integral [ i
)

22

Select one:

—2
a. converges to =

b. converges to _?3

c. converges to 0.

d. diverges

The comrect answer is: diverges

Select one:

a. 0
k.

L 1

The correct answer is: 0



Question 17

Comect
Mark 1 out of 1

¥ Flag
question

Question 18

Comect

Mark 1 out of 1

¥ Flag
question

OO 1

The series lan n
1+n?
n=1

Select one:

a. diverges

b. converges

The comrect answer is: converges

The infegral

e

Select one:

2
a. converges to —

Je
b. convergesto 0

c. convergestoe

d. diverges

The comrect answer is: converges to

NG



Question 19

(—1)"

;m are used fo estimate

o
If the first 3 terms of the series Y

Comect 1
hark 1 out of | its sum, then the error B satisfies
¥ Flag
question Select one:
1 v
-1
b. 7 <E<0
-1
C 3 < FE<0
1
d 0<FE< 6
The correct answeris: 0 < B < %
Question 20 Ifa, > 0,b, > 0.foralln > 1 and lim 22 — 0. One of the
C - n—rog On
omrect
following statements is frue
Mark 1 out of 1
¥ Flog Select one:
question
a. If Y b, diverges, then ¥ a, diverges v

b. Theseries Y a, and Y b, both converges of both
diverges

c. If Y. b, converges, then ¥ _ a, converges

d. 1f ¥} a, diverges, then » b, divergess

The comrect answer is: If Z b,, diverges, then Z a, diverges



Question 21 oo {Ez_l_l}nrl
The radius of convergence R of the series Y ——5— |

Comect 2nt2
n=1
Mark 1 out of |
¥ Flag select one:
guestion a. 3
b. R=
1
c. R= =
d R=o
The correct answer is: R = %
Gluestion 22 D ==
. 1 dr .
True or false: The infegral f Vrildz converges by direct
neomect : rt
Mark 0 out of | , L=
comparison test with f Eﬂ
¥ Flag 1 z=
question
Select one:
a. False
b. True

The correct answer is: False



